|
i
7" e geTe \f "“”7'

Communication [24 marks]( ¢

I. Name the following compounds. [6 + 8 = 14 marks]
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2. Draw structures for the following compounds. [6 +4 = 10 marks]
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3. Is cyclopentane an isomer of pentane? Explain fully. [3 marks] X
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4. The following compounds have approximately the same molar mass. Arrange them in order of decreasing boiling
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point and explain fully. Include a structural diagram of each. [6 marks]

A. ethanol B. ethylamine C. ethane
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Write structural diagram equations to illustrat@f the four reactions below. Include all pertinent conditions.
[4+4+4= 12 marks)

(a) the alkylation of benzene
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(b) the reaction of pent-1-ene with hydrogen bromide
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(c) the preparation of an asymmetrical ether from 2 alcohols
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(d) the reaction of chloroethane with hydroxide ion

\ DUy ek

o =C=(=0-4 L]
’(—l"‘L{\\j‘r\‘ : ' - e

A A0 La e SMegl



3

: lO S thS \ 1

X Bor
;\m‘,L\O_ / @/* Br ,”"_.,/\e,'w

2
“\ N Br +NH4
C/ \ \ @ 3 /\NH3+H60’
\ H /\/\/\0
9] @ o H-Ho).-q,\/\i
/ \// @/MH +o) HtHL0
o
AR H,_n/(v\/(ou

0\ 2,0 m‘fz'*’.! zé”u/\/é@ P + N
A p n¥anf X
)\H ] _Ei——% K—OH\’- Hat ; A o {/) Mo
A 0 ol ARAL makes primery 4l T

hy

ligaPnghov

i

(a) All the straight chain satru_rztcd isomers of ketones with 5 carbons.
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(b) All the saturated isomers of esters wiu@:ubons.




